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Which of the following statements
traditional Haryanvi literary and cultural forms is
jncorrect”’
(A) Ratvai is a dance¢ associated with the Mewati
tribe.
Ragini is a popular form of narrative poetry
in Haryanvi.

(B)

(C) Sang (Swang) is a folk theatre combining

music and drama.

(D) Jhumar Dance is performed by men in a

circular formation.
[O}:1{0]
,.é 2
Ofz

(E) Not attempted

Arrange the following districts in descending order | 2.

of their Census 2011 population :
Hisar, Yamunanagar, Faridabad, Panipat

(A) Faridabad > Hisar > Yamunanagar > Panipat
(B) Faridabad > Hisar %;*?anipat > Yamunanagar
(C) Hisar > Faridabad %:'i?anipat > Yamunanagar
(D) Faridabad > Panipa}rt'\} Hisar > Yamunanagar

(E) Not attempted

Which award is annually conferred by the Haryana | 3.

Kala Parishad for contributions to Haryanvi
literature ?

(A) Saraswati Samman

(B) Vyasa Samman

(C) Haryana Gaurav Samman

(D) Pandit Lakhmi Chand Award

(E) Not attempted -

What was the original name of the fort built by |4.

about | 1.

GET IT ON
Google Play

urafe it aifefeaen oft diepfas 9 & any

# fr=ferfad § @ PA-AT FEH TAT 2 2

4 e BTt ST & 3T U TR |

(B) Tt gfemoret & seTea e 1 U dAlhiiy
IR

(C) @i (Ti) T dren e @ fad @ ok
AT T EAISH EaT & |

(D) @ﬁgﬁmmmﬁ%mw
gl

(BE) ST AT =med

ferefrRaa St shY IR STFTOMT 2011 3t SHEEAT
F UL o T sFa iy I :

LAY wiETeTE > fEER > FHAFR > T

(B) i > fEwm > TR > T

(C) feam > wiemEme > 9Had > AR

(D) HETeE > ariad > fFar > FHAR

(E) 39T &1 =med

=REToT ST aRTe g ST e § Fre &
mﬁaﬁw—wwﬂw%mw%?

(A) FCEd g =

(B) =8 G

(C) &P TRE gH T
/(D)/'Q%?TFI@TﬁEI?{W Q%Els
(E) I el 31 =medt o

it efterer T Fafeer foey a6y T AT o o e

George Thomas which was later named ﬁmwﬁmw !
Jahazgarh 2 (K5 itshTg (B) 9WETE
(A) Georgegarh (B) Thomasgarh D) TG
(C) Bahadurgarh (D) Jhajjargarh © = ( ‘
(E) Not attempted (E) IaT =l &A1 =med

&2 &
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5.  Which of the following word best completes the
relationship given below ?
Cell : Organism : : Brick : ?

(A) Building

(B) Wall

(C) Mason

(D) Cement

(E) Not attempted

6. Find the odd one out : 6.

(A) Violin (B) Flute
(E) Not attempted

(C) Guitar (D) Sitar

7.  Kajal left home for a hospital. She travelled 5 km |7,
towards East, then turned towards South-East to
travel another 10 km, then again she turned
towards North-East to travel 10 km and finally, she
reached the hospital. In which direction is the
hospital with respect to her home ?

(A) North (B) West (C) South (D) East
(E) Not attempted

8. Find the odd one out : | 8.
(A) 169
(B) 91
(C) 187
(D) 143
(E) Not attempted %%g

9, What is the value of the following expression ? |9,
(32  1-5) + (672 + 08) — (2-1)°
(A) 1321 (B) 48
(C) 879 (D) 1099
(E) Not attempted

5.
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Frerferer & - e A3 g T EeY

e T | T HLaT B 2
ﬁﬁm:sﬁa: :ﬁZ:?
(&) AT
(B) @R
(C) freft
(D) die
: -
(E) IR a7 9med g%b
ﬁwgﬁq:
(A) IrEfa (B) sigd (C) frer (D) faaw

(E) SR FE AT =T

IS B Y AT o forg Fepedt | a8 q& 1 AR
5 Topeft =reft, ot aferor-gd ot ST HgaRt 10 Tt =ret,
Tt a7 IST-E ot TR qea 10 Tt =relt 3fR ta o
IE ST UG TS | Ik TR o WU STt fohdt
[EUR: R

(A) W (B) 9fz® (C) sfaw  (B)
(E) e <1 9med

form g -

(&) 169

(B) 91

(C) 187

(D) 143

(E) S El ea1 9med

frefafad TSF AR FTR 2
(32 x 1:5) + (6:72 =+ 0-8) — (2-1)2
(A) 13-21 (B) 48

€y 879 (D) 1099
(E) S &l 3T =Ry

&3 &
B
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11.

12.

13.

14.

15.

e

10. After interchanging + & x and 12 &18, which of

the following equations will hold true ?
(A) (]8+(,)x 12 =90

(B) 9+ 12) x 18=60

(©) (12+18)x12=72

(D) (12+6)x 18 =36

(E) Not attempted-

i
Haryana shares its boundary with how many
Indian States, excluding Delhi ?

(A) 5 B) 6

© 7 (D) 4

(E) Not attempted

Only three of the options can be formed using the
letters of the given word CELEBRATION, using
each letter only 0'n’¢e. One option cannot be
formed. Find that word.
(A) ACTION
(C) BRACE '

(E) Not attempted

(B) TABLE
(D) ELECTRIC

In which year was the Circuit House converted into
the residence-cum-office of the Governor and
made Raj Bhavan Haryana ?

(A) 1976 (B) 1966 (C) 1986
(E) Not attempted

(D) 1956

What is the minimum educational qualification
required for a Scheduled Caste (SC) woman
candidate contesting:the post of Panch in Haryana
Panchayati Raj Institutions elections ?

(A) 10th pass (B) 5th pass

(C) 8th pass (D) 12th pass

(E) Not attempted

In a certain code, ‘BASKET’ is written as
5$3%#1° and ‘TRIED’ is written as ‘14%#2’.
How will ‘SKIRT’ be written in that code ?

(A) 3%#41 (B) 3%%41

(C) 3%%41 (D) 3#4%]1

(E) Not attempted

10.

11.

13.

15.
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+ & x AT 12 & 18 T 39E H e I, Feaferfiaa
o ¥ -A7 THfieRtor g7 8 9
) (18 +6)x 12 =90

(B) (9+ 12) x 18 =60

(C) (12+18)x 12=72

(D) (12+6)x 18 =36 i
(E) IR &l g1 9med %%5
BT 6t e, Reett = Siga, fohd T Tsat
& T ATCAT R 2

(A) 5 (BY 6
(&) (D) 4
(E) I &1 =med

fdu T 3Tee CELEBRATION % 37811 b7 39T hish
Hhad i faeheT ST ST Hehd 8, STelfeh Iolieh 3781
T ST Fae Ueh AR R STl @ | U foreheq e
SATIT ST HehelT | 98 ¥ 6T |

(A) ACTION (B) TABLE
(C) BRACE ) ELECTRIC
(E) TR € &A1 Jred

gfhe TRw w frg o usue &
Fam-ag-saiaa o ufafda frar mn ek a8
RO TSt Wa T &9 T 2
1976 (B) 1966
(E) SRl 31 =med
BT et TS SETSAl & IAEt § 99 % ue &
T T e areft g shfa (et i afeer

(C) 1986 (D) 1956

Iefiear 3 fore =pam SregfoTen Fivar . ? 2
(A) 103t 9mE (B) sdfum

(C) &diu™ (D) 12 9/
(E) ST &A1 =med

s fifdg @#ie &, ‘BASKET® &l 5$3%#1° 3R
“TRIED’ &I ‘14%#2’ for@r Sar @ | 38 &+ |
‘SKIRT’ =l &8 for@r straem 2

(A) 3%#41 AB) 3%%41
(©) 3%%4l (D) 3#4%]
(E) 3T A &7 =Imed

&4 &
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17.

18.

19.

e

Three friends had dinner at a restaurant. When the
bill was received, Amita paid 2/3 as much as Veena
paid and Veena paid 1/2 as much as Tanya paid.
What fraction of the bill did Veena pay ?

(A) 3/11  (B) 1/3 (C) 5/11
(E) Not attempted

(D) 4/11

What is the name of the Haryana Government
scheme that compensates farmers when market
prices fall below MSP ?

(A) Meri Fasal Mera Byora

(B) Krishi Sinchai Yojana

(C) PM-KISAN Samman Nidhi -
(D) Bhavantar Bharpai Yojana
(E) Not attempted

What is the primary objective of the “Manohar
Jyoti” scheme launched by HAREDA (Haryana
Renewable Energy Development Agency) ?

(A) To supply LED-based solar home lighting

systems to households
through

electric vehicles

(B)

To promote
subsidies

To install solar power plants on government
buildings

To provide solar water pumps to farmers for
irrigation purposes ,@%g
Not attempted EER

©

(D)

(E)
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16.

17.

18.

i St 3 e Y & T e | i et fre,
ST 3 o 3 st 3 2/3 ST foee ST
AT 3 AT 1 1/2 ST fohar | ofiar 7 fret
fepea fewea <gehram 2

T 3/11  (B) 1/3
(E) o &l 3T |med

(C) 5/11 (D) 4/11

SRATOT AT T I FISTT 3BT T AT & ST SIS e
wuEdt & A e W fREE i gerEs ot
g2

&7 B wEe AU SR

(B) iy =S A

(C) drew-foram s fafer

(D) WTEiaT SRS ASHT -
(E) 39T e a1 =med %%i?

FreT (RRETUT 1R St e TSiE) ST I AT TS
TR S ST ohT ST e eI R 2

) T 3 Ui HR SR b e At
FTYfef AT

(B) Tfsaet 3 ATead ¥ geifergeh aTe-t i sgrall ot
(C) T warT o TR st G TATud s

(D) =g 3 fore forermii ot € St 4d Seteet hT
(E) IuX 2l &A1 =med

Which ancient river, often mentioned in Vedic|19. afee wiwf § sreper aftia s-eft s 7 3=
texts, is believed to have flowed through S PeTorT & S STt ot YT 3EHT TTEER U .
present-day Haryana and its revival is a current e 2
project ? &) sl
(A) Asikni ) ng?,'ﬁ
(B) Shutudri - hadis
(C) Vipasha | {(/B)/m
(D) Saraswati ® SN
(E) Not attempted
&5& *

S K VR
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N
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22.

20.

e

Which of the following is the State Tree of
Haryana ?

(A) Peepal

(B) Neem

(C) Mango

(D) Banyan

(E) Not attempt‘ed’

What does the BCC field in an email stand for ?
(A) Broadcast Carbon Copy

(B) Background Central Copy

(C) Backup Communication Copy
(D) Blind Carbon Copy

(E) Not attempted g%g

Match Backup “media (Column A) with its
Description (Column B) :

Column A Column B
(Backup (Description)
media)

a. Tape Drive i. Cheap but slower, optical

media

b. SSD Backup ii. Fast random access,

Disk durable

c. Cloud iii. Remote, internet-based
Backup storage

d. DVD iv. Sequential-access, low
Archive "~ cost per TB

Codes : |

(A) a-iv, b-iii, c-ii, d-1

(B) a-ii, b-iv, c-i, d-iii

(C) a-iii, b-i, c-iv, d-ii

(D) a-iv, b-ii, c-iii, d-i

(E) Not attempted

20.

21.

22,

GET IT ON
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e T @ AT efEmn H ST g 7 2
(A) doe

(B) =

(C) ™

(P) I & (ITT)
(E) 3o & 1 =med

5
[E] g

AT BCC Fles AT ar 7 8 2
(A) STSHRZ el Hidt

(B) SFUTSE Hger it

(e FHITT FRIHHR it
(D) SITSE SHTelA hidt

(E) IR T T =

ShaTd HifSA (e A) Y 58 farawor (@#ew B) @
ﬁl?ﬂ?mz

Ficq A FIcTq B
(379 (fraro)
Hifsam)
a. 20 9159 i. a& afe o, Aiftesa

Hifear

b. SSD ¥HAT ii. I AgFeseh A, fhras
o=

c. T3S iii. fone, Sere-omaig @i
EEx

d. St iv. Tshitre-31immy, wfy Asft 6w
S ICAEC SING]

3;52 :

(A) a-iv, b-iii, c-ii, d-i
(B) a-ii, b-iv, c-i, d-iii
(C) a-iii, b-i, c-iv, d-ii

DY a-iv, b-ii, c-iii, d-i
(E) IR A 31 =med
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23.

24.

25.

26.

27.

Which of the following statements is incorrect ?

(A) Windows 10 Pro is a single-user operating
system.

(B) Windows supports a Graphical User Interface
(GUI).

(C) Windows 10 Pro supports remote access.

(D) Windows allows file compression.

(E) Not attempted

GET IT ON
Google Play
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23, Fmfofed @ e FoH 7T ?

) RIS 10 i v Rt ST e € |

(B) ﬁ@am@m(am)wm
FAT? |

() Fieist 10 5 fesite e (ggT AT 1 awe
Fare |

(D) fiSret wiget dfe it sAfd 2aT 2 |

(E) 3o e 31 91

What is the name of the Haryana State Culture|24. 2019 ¥ gf@mom HmHsd g SIgﬂ}lﬁ?l' g TS

Policy approved by the Haryana Cabinet in
2019?

(A) Kala Virasat Haryana Neeti
(B) Sanskriti Vikas Haryana Neeti
(C) Kala Vikas Neeti

(D) Kalash Neeti

(E) Not attempted

weepfa fifer AT FE 2

(A) e frraa gham Hifd

By aeepfa ferehma sitmon Hfife

(C) e e Aifa

(D) et i .
(E) SR &l &A1 =med %%%

Which file format is best suited to store scanned |25. OCR—W%Q@@WE@@WWW

documents while preserving OCR-readable text
layers ?

(A) TIFF

(B) PDF

(C) PNG

(D) JPEG EI%EIE

o)

(E) Not attempted [ap=

TS Y IR U o [ A6 BI5d TET
HeH I @ 2

(A) TIFF

4BJ PDF

(C) PNG :

(D) JPEG

(E) 3o et 3 =9med

Which of the following trees are commonly found | 26. frefrfaa & @ F9-8 U gmEmIa: T gaifeEt i

on the slopes of Morni Hills ?

(A) Deodar and Cedar

(B) Bamboo and Teak

(C) Neem, Oak, Pipal, and Jacaranda
(D) Eucalyptus and Sal

(E) Not attempted

TAM! T ITT ST & 2

(A) IR IR HeT

(B) s TR @rE

(C) i, 37k, fiae, TR STehiar
£P) ThfereE IR AT

(E) Il AT =ed

Which of the following is the correct order from |27. fefSeet g 1 T B § T TSI THS HT Tl

smallest to largest unit of digital information ?
(A) Kilobyte, Megabyte, Gigabyte, Terabyte

(B) Megabyte, Kilobyte, Gigabyte, Terabyte

(C) Gigabyte, Terabyte, Megabyte, Kilobyte

(D) Kilobyte, Gigabyte, Megabyte, Terabyte

(E) Not attempted

7 Freferfiad 3§ & A 2
(B) AeTse, feRcttamse, Affmrege, 0ege
(C) Trage, aTge, AMTeTse, fReteTse

(D) fercitemse, Mmase, Fmase, aTEe
(E) SR TE <A1 =red

&7 &
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g A invests T 50,000 for 8 months, while B invests
b / S

7 80,000 for 6 months in a venture. What should be
the profit sharing ratio of A : B 9
(A 1 (B)YS:8 (0)8:5

(D)S:6
(E) Notattempted

A trader offers two successive discounts of 20%
and x on an item marked at ¥2,000. If fina

| 1 selling
price is ¥ 1,280, find x.

(A) 25% (B) 20%

(C) 33-33% (D) 10%

(E) Not attempted

A conical tent of radius 7 m and height 24 m ig
being made. If cloth costs T 10 per square metre,
then what is the total cost to cover it from the
outside ? (Use 1t = 22/7)

28. A forelt 3em o 8w ¥ foru = 50,000 ek ey 3

aaﬁss,on—aﬁi%ﬁat{fso,oooﬁémm%l
A B 1 AT TS ST 4 #n it o
(A 111 (B)5:8 (C)8:5 4i)s.¢
(E) 3 & 1 =

@sz,ooowﬁ@a@‘ﬂm%aﬂn'ﬁ
3 T T2 T F@T R | AR i fy

T
T 1,280 &, df x 1 T |

(A) 25% @) 20%

(©) 3333% (D) 10%

(E) WS ==

7tﬂaﬁmaﬁtz4rﬁa°mr§mw?r&am
TS ST ST TET R | AT 98 Y 07 = 10 iy 7
ﬁa%,a‘r:&w@raaﬁﬁ@—amw%?

(U= 22/7 % 3991 Fifsm)

(A) T5750 (B) ¥5,500 &) 5750 5 25,500

(C) T4800 o (D) 6,000 :

(E) Not attempted EEE (©) 4,800 (D) %6,000
o E%i‘nf (E) 3=t 3 =mey

31. A machine produces 1 unit every 2-5 minutes. If its

31. U W e 25 fre 1 gfe w1 seqred wA
efficiency drops by 10% after 2 hours of %mﬁzsi%%ﬁwm%msaﬁmm%
mﬁw%,a‘ragsﬁ%ﬁﬁmﬁﬁm{ﬁzw

continuous operation, how many units will it
produce in a 5-hour shift ?

TS Hft 2
(A) 1108 Ehiglp® A&7 1108 (B) 130
(C) 1128 (D) 108 © 1128 (D) 108
d ISE
(E) Not attempte N = 8

g% (Fmtar &
32. A manufacturer sells an item to a shopkeeper at a 32. e fmidr, T gEERR I TF I ( )
. profit of 25% on his (the manufacturer’s) cost

AT T T 25% % T 0 A= R | ﬁrﬁng
price. The shopkegeper then sells the same item to a N £ T T F T 500 S 2 R
customer for ¥ 500, making a profit of 20% on the ay] o e BT | a@%%qﬁﬂm
selling price. What'was the manufacturer’s original IEFxs LR 20% ;

cost price for the item ? T A AT e T AT

(A) %300 (B) £400 (A§ %300 (B) T400
(C) 7240 (D) 320 = B) %320
(E) Not attempted () 3¢ et 37 =med
B > 7y &8 & Vowe,x 125 = 3715
x5 o \o - . T
x ,_XTUIA,CW\N%X)}?: Coe
wr \ S

= Toox'pe 2-
+S =3
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33. Who chairs the Goods and Services Tax (GST) 33. smaﬁawqaﬁanw (TrﬁQ'Flﬁ) qftye i LA

34.

35.

\*

¢BY

36.

Council in India ?
(A) RBI Governor

|
(B) Union Finance Minister | \ O C\ |
(C) Finance Secretary |
(D) Prime Minister |
(E) Not attempted Y |

L, WA |
%2z 159 |
Which pollutants are the primary focus under 34
NCAP ?

(A) Nitrogen Dioxide and Carbon Monoxide
(B) Lead and Mercury

(C) PM2.5 and PM10

(D) Sulphur Dioxide and Ozone

(E) Not attempted

ugxad
2 S Tog 7
U3 2
Identify the incorrect pair : 35.

(A) OPEC — Climate agreement

(B) NAFTA — North American Free Trade Area

(C) BRICS - Developing economies

(D) GATT - Predecessor of WTO

E) Not attempted EEE

" NERRS xa4 &
’T{& i |

Which of the following is not an objective of the

South Asian Association for Regional Cooperation

(SAARC)?

(A) To establish a unified political system across
member states

(B) To strengthen cooperation among themselves
in international forums on matters of common

36.

aﬁ-r‘qm%?

(A) REATE TaR
By i fam aft
(C) fawafaa

(D) gaH 5t

(E) IR T 1 =med ?’%g

[Eles

TR (NCAP) % Sl -8 SE¥hi 0 Srfieh
ZIERCOIRID NS
AT STFHTHTES I FHTe AHISHATHTS
(B) drar s am
(C) drum2.5 3R dium |0
(D) Ao SRAHEE HANHT |y o xID S

(E) 39T F@1 21 =med )

- Soy
TEd 1 GEEH I —

) 3 Serary awan

(B) AT I STRCHT Heh ST &

(C) o - faarmasfier srefegaeemd

(D) M2 (GATT) — ST (WTO) Fl qaard]
(E) 3u et g 9med

frafafiea § & #9-ar aféor ofim esftr gedm

T3 (SAARC) F1 33T TET 8 2

(A) TeET 39N ¥ UHida Uil sqaeen s
T

(B) iauiedi Tt | |ve fed & wmwedt @ o §
FEANT hl A hLAT

terest (C) o TfTa o A o R ToT T srgra 2T 3R
(C) To promote the welfare of the people of South e ﬁnwa'm E o
Asia and to improve their quality of life
(D) To accelerate economic growth, social /(/Dj g7 § o o, wmfys wfa ok
progress and cultural development in the Wﬁmﬁﬁm
region (E) IR 2l AT 9Ted
(E) Not attempted
12 25 16 Q. 53
B Ry x s - KRR &9& %&)ﬁf& — Wo @
i A ey
* > Yoo

,ZZB? x\ oo
B
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37. Cons

38.

39.

e

ider the following statements about the
Comptroller and Auditor General (CAG) of
India :

I. The CAG is appointed by the President of
India.

The CAG can be removed by the Prime
Minister.

The CAG audits the accounts of both the
Union and State governments.

1L

II1.

IV. The CAG submits audit reports directly to
the Finance Minister.

Which of the above statements are true ?
(A) Tand T only

(B) L, Il and IV only .

(C) I and IV only

(D) Iand I only

(E) Not attempted

G

Which one of the following is not associated with
Harappan culture ?

(A) Drainage system -
(B) Great Bath

(C) Iron tools

(D) Bricks and Beads.
(E) Not attempted :

Which country assumed the BRICS presidency in
2025 following Russia ?

(A) South Africa

GET IT ON
Google Play
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37. w%ﬁmwmm(mm%aﬁ
Fraffaa wemt w fa=m Fifve -

. CAG I Fgfw wra & sl gr ot sy
2l

CAG &I Y9 5t g1 g2/ ST Ghar 2 |
CAG &% 3R UsT TRl F1 & orat 5t
TETIEEAT LT & |
CAGmﬁéFﬁﬁﬁﬁﬂBﬁaﬁW
FTE |

ST H § FH-A B T F 2

(A) Faet I AR 111

By FaAL ARV

(C) FaA I ARV

(D) FHaA 13RI

(B) WA & =men

II.
II1.

Iv.

38. ﬁn%iﬁaﬁﬁaﬁmmagwﬁ@%ﬁﬁaﬁm#ﬁ
®9

(A) STA-Fepret sgaze

B o |\

(C) &R F IR

(D) 3 3R w7

(E) W& T 9mey

39. ®FF € 2025 o T ot stearan g 3w 3 wawr

# 92

XK) 30T skt
(B) India (B) W@
(C) China (©) =
(D) Brazil EISiN]
D)
(E) Not attempted Y i :
(B) I 7 M =men o8
40. Complete the series : 3!‘@5” <hfe <
4,7, 13, 25, 49, 9 - 4.7 1;3125 49 ?
(A) 91 (B) 85 ©) 101 (D) 97 :‘\ ’ 91, .
(E) Not attempteq (A) (B) 85 © 101 g7 97
(E) S M =meq
B
& 10 &
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41.

42.

43.

44,

e

Which one set of letters when sequentially placed

GET IT ON
Google Play

& “\9/?%\\0@

. . 41. aaﬁaaraﬁh-mm@a}némaj@wﬁﬂ?ﬁml:“
?tt;he gaps in the given letter series shall complete 9T e &9 9 T S 9T 3’%‘2{5[33\"“ ?
gfe ig eii fei gf ii gfe _.ig - eii _fei gf ii ‘
(A) ifgie B) figie (,A(f ifgie (B) figie
C) if o (C) ifige (D) eifgi
(©) ifige (D) eifgi B (E) T 79 3 AT
(E) Not attempted %%ﬁ v
Three tasks must be completed, each taking one|42. o el g R B, o F I H Teh H2T A
hour: 1 ; T 31 etar i STEvEaT &
iast ; Eeeds Anit_a and Babita 0t 0 - asa Sﬁtiﬁﬁ\?ﬁ v 2
TZZk 3 szgs i?:ta al;dciheenu = 3 : Afar 3 =i A ST &
2 s Anita an eenu !
| SRS ot
Only one task can be worked on at a time. No @Wﬁéﬁﬂ@iﬂ ?%?amm% R
person can participate in two tasks simultaneously. %@_Wa T & AT HehdT | )
What is the minimum total time to complete all ﬁWﬁWW%%@WWWW% ‘
three tasks ? (A) 2582 By 2%
(A) 2-5 hours (B) 2 hours (C) 3-5%2 (D) 3%
(C) 3-5hours (D) 3 hours (E) I T T =T gl%l!lg
(E) Not attempted N [OFz2
Select a figure from the Answer Figures which will |43, 3IwT aﬂﬁgﬁﬂﬁ b9 UuH 311’{5% &1 994 FifsT EIRC] @
continue the same series as established by the five g Wa‘mwﬁﬁﬁ maﬁmﬁ(@rﬁ | @A
Question Figures. WY STt ; o lom Ll
uestion Figures :
? s |9 |[w -y
> |1 ||Ww 0o |[A
0o [ A noo 6 @ ®
D @ @& @ O i
M 3T ATHAAT :
Answer Figures :
K| (B)
N2 ® [ 2
— | © [ & D)
© [ ® | & &
(E) ST & <A1 =med
(E) Not attempted
Which location is renowned for hosting the Mango |44. & ’Tﬁ;‘iﬁ HH U & IS & foI |1 T
Mela every summer ? - g @
(A) Faridabad (B) Panipa (A) FaTETg (B) Urfiaa
(C) Karnal (B Einore FET (D) fisik
(E) Not attempted (E) IS 1 9meq
a & 11 &
\e;(‘l \
./;7

q
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GET IT ON
Google Play

45. Consider the following  statements  about |45, BT F & wifta F i Arefiiag EOEIR
- Haryana's folk music : ﬁ?ﬂ@ﬁl‘{ :

1. ‘Bara Masa’ is a popular musical form that L R AT T AR Tl w5 25 R
expresses  the emotional journey of 7T % N s At # TE=TeH 797
separated lovers through the twelve months. T oF AT R

II.  “Jhoolna’ Songs are associated with I =eEr mmm@@%% gy
religious ceremonies and sung during death H{;:Fr( %mqﬁmﬁ% |
rieuals. ML %A Ereft & eR F R T 9 A
II. “Phag’ is a seasonal form of music sung it &1 wH et &7 ? 3 77 @t IR
during the Holi festival and expresses joy ST Y SR AT R |
and playfulness. R r T
N
Which of the above statements is/are true ?
(A) L IL and 10T B) 1and IT ol (A1, 11 38R 11 (B) Haer R 11
> 11, an an only
(C) TandIII only D) Tonly (C) et 1 3R 111 (D) whael I
(E) Not attempted 9%?5 (E) S & amey
[l
46. Which of the following statements are true 46. @"ramanéaﬁqqqaaréq (DRIISHYA) & gy o
regarding DRIISHYA ? Fretferfiae # & 22 arem wer & 9
I.  Haryana launched DRIISHYA for surveying I =@y aﬁ'ﬂﬁ{%ﬁ'r (STTETAT) Tfisrrait
infrastructure projects. , ¥ gaqur a'?ﬁ‘ﬂ‘ﬁRJISHY A = fiFr |
: 3) o

II. DRIISHYA was launched in 2023. Il. DRISHYA #5023 & st T T o7 |

III. DRIISHYA is headquartered in Gurugram. 1. DRIISHYA =7 T T 2 |

IV. DRIISHYA provides drone pilot training to IV. DRIISHYA &famon & ganaﬁ F S T
the youth in Haryana. HﬁT&TUTmEF{HT% |

Options : e

(A) I,IIandIVonly (B) IIl and IV only Fae 1, 11 3R [V (B) ¥ae 111 3K v

(C) TandII only (D) II'and IV only (C) FaA 13RI (D) ae 11 3R v

(E) Not attempted (E) Wq—fﬁﬁa—'ﬁu JE:‘I%‘E%]

o~ [El
& . .
47. A farmer looks out into his farm and sees both |47, @%ﬂﬁ&ﬁ@ﬁﬁ%ﬂ%ﬁﬁ% R T 2T

chickens and cows. He counts a total of 30 heads Eare | e T 30 e 3tk 74 R fiar | gz g

and 74 legs. Assuming every animal has exactly T % & ST Q%C%ﬁ i ERCTe e e B

one head, how many chickens does the farmer W &9 ;

have ?

+ . (A) 18 (B) 15 ©) 7 P 23

(A) 18 (B) 15 () 7 (D) 23 I

(E) Not attempted (E) 3IW <ITed

B &12 &
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48.

49.

S0.

e

If triangle represents Men, rectangle represents
Businessmen and circle represents Millionaires
then which number represents Men that are botl;
Businessmen and Millionaires ?

(A) 13 (B) 10
(E) Not attempted

(©) 11 (D) 12
EEE
2

A piece of paper is folded and then holes are
punched in it, as shown in the Question Figures.
From the given Answer Figures, indicate how it
will appear when opened.

Question Figures :

PR

Answer Figures :

S

(B)

(D)

©)
Lo :

(E) Not attempted

more than B. B scored 25% less than

A scored 20%
0, what is A’s score ?

49.

50.

GET IT ON
Google Play

48. aﬁﬁgagzﬁaﬁaﬁm%,mmv@ﬁaﬁm

2 it g et 1 g 8, At F-A Je T
gxﬁﬁmﬁ%sﬁmﬂmaﬁtmﬁraﬁ%?

Z/‘ \%/\ \o\\/L

P4 N L:’gﬁ
Lx’j . \f\’
A 13 B ©u D12 gﬁfﬂ&
(E) I T AT =med ;1%3 s
=R
L
w%@gﬂ%aﬁqﬁ:ﬁm%aﬂtmwﬁ@zm
ST &, e £ e st & ferar o R | T
wa@ﬁﬁﬁm%@aﬁwa’s%mﬁ@?
|
YT ATHIAAT :
3 P 4 -
".: €5 \’%6 O
& [ | e o °
. o
IR ATRIAAT © ®
(A) £8) ~
(©) (D)
A A (o X\ Lo
(E) Tl &A1 =Ted

A%B@fzo%awﬁﬁmm%&msﬁcﬁzs%m
sia T F | 3f% C 3 80 3 Y v, A A % si

C. If C scored 8 : %
(A) 72 (B) 76 ()80 (D) 84 fora &2 ®
(E) Not attempted AK) 72 (B) 76 (C) 80 (D) 84
(E) I8! <1 9Ted
& 13 & -
@gm U =50 rn= 30 Moo= 2.7
&M—\-M(JW-:_NT\‘I —‘\—&(Jlo:B_,
Fo=f T
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51.

52.

83.

54.

55.

56.

e

If3A=2B=4C, then whatis A:B: C ?
(A) 2:3:5 (B) 4:6:5
(C) 2:3:4 D) 4:6:3

(E) Not attempted

Which of the following pairs of scientific
inventions and scientists is incorrect ?

(A) X-rays — Roentfécn

(B) Periodic Table %%Mendeleev
(C) Radio - Ruthelffg',rd

(D) Penicillin — Floming

(E) Not attempted

Which of these gives an incorrect relation between
HCF and LCM ?

(A) aand b are both divisble by HCF (a, b)

(B) HCF < min (a, b)

(C) HCF (a, b) X LCM (a, b)=a/b
(D) LCM = max (a, b)

(E) Not attempted .

P

Fill in the blank :

Ifa” +b° =29 and oo 10, then a + {1
(A) 14 5 (B) 9

(C) =14 Q@ 7

(E) Not attempted

Which of the following ‘data set-to-average’ pairs
is incorrectly matched ?

(A) [2,4,6,8]1—>5
©) [1,3,5,7]1—4
(E) Not attempted |

B) [3,57,91—17
(D) [4,6,8] -6

Which of the following is the highest peak in
Haryana ?

(A) Riwasa Hill

(B) Karoh Peak S
(C) Dhosi Hill

(D) Khanak Hill

(E) Not attempted

€2

51.

52,

53.

54.

55¢

56.

GET IT ON
Google Play

Ife3A=2B=4CR,TA:B:CHTR?

(A) 2:3:5 (B) 4:6:5
(C) 2:3:4 P 4:6:3
(E) I <1 9med

frafafea & & fae snfasprt 3t It &
F-ET T TeTd 8 2

(A) THX - U

(B) ad "weft — defta

(C) T —wwE

@7 ffafe - wif

(E) I AT =R

ST ¥ FH-8T HCF 3R LCM ¥ sitsr 7era g 3ar
g9

(A) a3 b IHTHCF (a, b) A fonreg &

(B) HCF < min (a, b)

4C7 HCF (a, b) X LCM (a, b) = a/b

(D) LCM > max (a, b)

(E) I =& 31 =mey

ek T it
uﬁa2+b2=29aﬁtab=1o,a‘fa+b=

(A) 14 (B) 9

(C) 14 () +7 7@%{3
(E) 3 e} 37 =mey —

fefifen & & #F3 2er ded-shga

T
IESIEE o &S &

AX) [2,4,6,8]1 -5  (B) [3,5,7,9] -7
© [1,3,571—-4 (D) [4,6,8] > 6
(BE) W& 1 9med

Frafafed & & shamn € god 3t 8 9.
7

(A) famar e

(B e 91

(C) ot veTSt

(D) @ qBTSt

(E) ITR g <A1 | e

& 14 &

=
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57. Match the landmarks in Column A with their

correct locations in Column B :

GET IT ON
Google Play

57. aﬁarrAﬁﬁqnqwaﬁ—ammBﬁﬁQW‘ﬁa’

EEESIEIRAECIEETIS IS
Column 4 Column B FicAT A FT78 B
(Landmark) (Location) (EIAIE) (M) _ A _ \\\
a. Brahma Sarovar  i.  Faridabad A FEENE i HEER \
b. Surajkund ii.  Bhiwani b, T i frah %
c. Tilyar Lake iii.  Kurukshetra . iii\
c. femam . 55\,593
d. Star Monument iv.  Rohtak
: d RREWE  iv. Ugd®
Codes : %z 2P :Q\B\\ .
XY =
5w iyt (A) a-i, b-iv, c-ii, dii ﬁ . 2 . =
a-i, b-iv, c-ii, d-iii @)
e (B) a-iii, b-iv, c-i, d-ii (3 3%
(B) a-iii, b-1v, c-1, d-ii 47
-iii, b-1, c-1v, d-11
(C) a-iii, b-i, c-iv, d-ii Ly aff‘ .‘ o OB = MC
(D) a-ii, b-i, c-iv, d-ii (D) a-ii, b-i, c-1v, d-ni 8 31
’ 5D E) 3 Tel &1 =Ted s X ==
(E) Not attempted %%5 (E) c OC\) \ g (
58. Which of the following is the correct group of 58. mﬁﬂﬁ?—mgﬂmﬂﬂﬁwm-wﬁm%
physiographic divisions of the Ghaggar-Yamuna Wﬁqﬁ:ﬁ’mq&ﬁ‘g’q\g% 9
Plain in Haryana ? _ (A) HTeTET, e, 2T 3R Ufeeres % Vo,
(A) Malwa, Khadar, Doab and Rohilkhand S ttd e , !
(B) Bhakra, Doab, Terai and Chaur (B) ”.'@3" ’ U ¢ z
(C) Bangar, Khadar, Naili and Bet /(CY' ST, @, Jeft A A
(D) Bhabar, Terai, Khadar and Bundelkhand (D) T, 7, W i e
(E) Not attempted (E) I T & = E‘%
59, What was Firoz Shah Tughlaq’s contribution to |59, gfmom i f=TE # RIS W qrrerer 1 T ATEH
A a _ )
Haryana’s irrigation ? ar .
(A) Dam on Ghaggar River (A) TR T WY
(B) Lakes construction in Rohtak (B) Jeae § 3ttt &t fmtor
(C) Water tax removal (C) SieT L EHI
(D) Yamuna Canal W W
(E) Not attempted (E) I T <1 e
CJJO ‘M H
— =, ~ 8158
B arAy =24 ~ e 3 5
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GET IT ON
Google Play

—— - — T
60. What is the primary objective of the e-Adhigam|60. BREOT R g RIS T - e Rl
initiative launched by the Haryana Government ? T ST TR ?
(A) To offer scholarships for higher education ‘
sbroad (A) foer & == fren & fore sEafty vem e

(B) To provide free internet access in rural areas (B) Zwtor &=t & -9k getie g °

(C) To distribute tablets to students in grades 10 Oy Revrea forem & fqw e 10 & 12 a9 3
to 12 for digital learning :

ferenfRfart sy 2ecie ferafia svear

(D) To establish new government schools in . A fire T
urban areas (D) & ?‘}Eﬁﬁm i

(E) Not attempted 7@%@5 (E) ST < =mea

[Ele
61. Consider the followmg Statements about the|¢1. g TSEY & aR § fyafifaa st R fa=m

Vardhana Dynasty : S

I.  Their initial ca}_p}tal, Sthanveshvara, was I 39 gl T, TATAYSR FAqT BREOT
located in present-day Haryana. T fere oft | ,

I. King Harsha later relocated the dynasty’s I TS Y 3 o1e # UeEyr 6 usrar =5y Ay
capital to Kanyakubja, a city in modern Uttar IR F T ITeT 1ot o w,:naﬁﬁ T
Pradesh. feam )

III. The final capital of the dynasty was also 1. TS st 3ifam st 5y 3G U= T
known by its ancient name Thanesar. AE & ot ST ST O |

Which of the above Sfaiements is/are true ? SR § & R-EA o TR0

(A) Ionly

A) Faa]

(B) I'and II only . A

(C) LI and III (B) L3

(D) 1I and III only (O, 11 3R] 11

(E) Not attempted (D) I 11 3R 111

(E) S 3 = 235
62. Which ocean current is warm and helps keep|62. -t Wew@rRE wrr m ¥ 3 R T it
Western Europe’s climate moderate ? ﬁmmr@%ﬁmm% ?
P

(A) Humboldt Mgl siiee

(B) Labrador (B) TR

(C) Gulf Stream (C) T &im

(D) Canary (D) ¥

(E) Not attempted (E) 3R € 31 =mey

S & 16 &
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63. Match the following Articles of the Indian
Constitution in Column A with their respective
Subject Matter in Column B :

63.

GET IT ON
Google Play

Ftem A F fu T e @R faeferfad
ﬂ%ﬁmwBﬁmmmﬁWW—a@
ﬁﬁ'ﬁﬁm:

Column A Col .
(Article) (SO Zmn i/[ PITH A PIcTH B
ubject Matt i
A]’t 1 14 . P j ‘ . er) ( ) ) ‘75'5‘3@)
a. icle i i : .
h Toeciemal oy A T4 i SIOT R e A
personal liberty = wd
b. Article19 ii. E i
. " quality before law | b, ] 319 i ;’(ﬁﬁ‘)*mm
c. Article 21 iii. Right to freedom of speech . Em\’ 21 i 3135@ sifirsafiy Y @aFdn
and expression ~ S
d. Article 32 iv. Right to constituti | . ~
RO SARItRR d BT 32 v, A SURRI A AT
remedies ‘
' e :
Codes : °
e | (A) a-ii, b-i, c-iii, d-iv
(A) a-ii, b-i, c-iii, d-iv i i, coi. d-i
- - - - \
(B) a-ii, b-iii, c-i, d-iv ABJ a-il, b, e, ¢t
(C) a-iii, b-ii, c-i, d-iv | (C) a-iii, b-ii, c-1, d-1v
‘ . . . A . vee
(D) a-i, b-iv, c-ii, d-iii ,@%% ‘ (D) a-, b'lf- c-ii, d-iii
(E) Not attempted (el ; (E) 39T A& &A1 =med
64. The Sangita Ratndkara, a treatise on music, was 64. Wﬁﬁwm.mmﬁmﬁﬂ%@ﬁﬁﬁﬁﬁﬂ
composed by which of the following musicians ? g 7 i ot 2 ‘
(A) Swathi Thirunal (A) T foreer
(B) Tansen (B) qEH
(C) Amir Khusrau @y mw
(D) Sharangadev (D) ST
(E) Not attempted MY exefhm g%g
e OF23
65. Given the table below, which department has the| 65. Hrer &t 18 anforerr |, o foram o ufq sdet @y
lowest profit per employee ? TEEFA R ?
| No.of  |Profit ®in . w1 ,
Department Employees Lakhs) . Y (E T Y)
HR 20 40 HR 20 20 9 o
IT 80 70 IT 80 70 e
Operations 50 i KSR} 50 50 \
Sales 60 30 ﬁ-ﬁﬁ' 60 30 Oa SR
(A) Sales ®) IT (o feshl (B) IT
(C) Operations (D) HR (g W“ 'Taqﬁ'a:‘ém (D) HR
(E) Not attempted ( e
\_—_—___/ —
B & 17 &
9
¢
A
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66. A train moving at 90 km/h takes 30 seconds to

cross a bridge. It takes 18 seconds to cross a pole.

GET IT ON
Google Play

66. 90 Fefl/erer ot ifey & e ATt T 2 Y T g
F T 30 §HS TG & | Th @Y H UK F § 30

Find the length of the brid . .
(:; Sl 18 &S A § | T Y s 9T v |
(B) 450 m et
(©) 350m D) 400 m A5 300m @Y% 450 m
(E) Not attempted (C) 350 m (D) 400 m
(E) IR 37 9Ted
NEEN SN
67. Ifx=—"F7—7—"— andyw th h _ \/_"'\/_ \/—_\/_
J3-J2 ﬁ+\/—, enwhatis|g7, Ife x \/—_\/—Sﬂ'(y ﬁ+\/—%a‘r
thevalueofx +y 9 x2+y2$ﬂ:ﬂ??ﬁﬂ%?
(A) 49 (A) 49 238 B
®) 25 (B) 25 &% Ay T Ch
oo o 34 949 T2
i AD) 98 9 A
(D) 98 - (E) 3 & a1 =eq 3+9 Z
(E) Not attempted g%ﬁ ‘ b H
68. A tower casts a shadow 20 m long when the sun’s | 68. T 2Tt BT 20 MWW%W@WW
angle of elevation is 30°."What is the height of the 107 30° ﬁm & | 2T Y S Frat 2 0
tower ? 7 ‘ 5
. A . g
(A) % m il \/_ (¢ + 3¢ s
B) 20 .
(B) 20 m 2 ,26;/'10: Op ¢+{QV°,?DE
(C) 10m G) \a
(D) 9]
D) —m f q 3
V3 7 =
(E) Not attempted (BE) W 1 =9meq L Iﬂég
69. Which of the following is a major Agro-Forestry|69. fr=ifaftaa & & frdy afmor & ARG-ATLTIT Feq
species supporting wood-based industries in 1 qEHT I AT T F e gefy 3 wq
Haryana ? ST ST 2 2
(A) Deodar (A) TR
(B) Poplar SBY o (i)
(C) sal .0 3uMS éo ' (©) W
(D) Banyan tree ' 1 % (D) I I& (M)
e D) \ PR — .
(E) Notattempted > (B) S r ey
= &18& WNeo /Sorn V< A8
B E Mo —_— 2 B2
%ﬁg rz O ~ M ANV N ‘]4'? < 9 Q“‘O
\ 2 (0]
| ress o = lo
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70. Consider the following statements regarding the

Panchayati Raj system in Haryana :

L The Zila Parishad is responsible for
advising, supervising and coordinating the
functions of the Panchayat Samitis within a
district.

II. The Panchayat Samiti is the highest
institution of the Panchayati Raj system at
the district level.

III. Gram Panchayats directly supervise the
activities of the Zila Parishad.

Which of the above statements is/are true ?

(A) I, 1I and III

(B) OnlyI

(C) TandIII

(D) Only II mgm
(E) Not attempted %%ﬁ

71. What is the name of the radio programme launched
by Department of Women and Child Development
(DWCD), Haryana under Beti Bachao Beti Padhao

scheme ?

-:?S'+_.2\4 J((A) Mabhri Beti Bachao
(B) Mahri Desh ki Beti
(C) Mabhri Laado ki Awaaz
(D) Mabhri Laado
(E) Not attempted

is mainly responsible for

72. Which institution e
P for maintaining

procuring food grains at MS
buffer stocks ?
(A) Commission for Agricultural Costs and

Prices (CACP)
(B) Ministry of Agriculture
(C) Food Corporation of India (FCI)
(D) NABARD
(E) Not attempted

GET IT ON
Google Play

70. Wﬂﬁdmm‘,m%mﬁﬁm%ﬁaﬁ
et W fo=m Hifs
I RremaRee us fiet 3 vfiex demra afafedt
e 3, 3% qdar of FHET % wHad

o e 1.
1. Gerga ety R S ot st TS STee
Y gatea TET R |
1L, T g e aftye s fafafer S see
et et 2 |
I & & HH-GA T T T ? 2o 165
(A) I, I R I 2 o
}Ba’éﬁal

(C) 13RI 0 gx . 25,
(D) Faat 11 , Te I" '
(E) W TE &7 =edt =18y

71, 3 S A T AT 3 sia wfee o are
faepmar fomr @33@3‘@), g g & fhe

0 Y FriT A TR 2
(A) HTEE 9 =TT R
By Al A 9 1€¥ (=3 q
(C) wTeh aret it AT Z\B:O
k)
(D) HTed @rer r-L-‘ 2
(E) mqiﬁémm%{-ﬁ; gﬁs)'//o
&>
o2

72, SR ST T ¥ fu wHwE (MSP) T @
wited & fore e w0 AaH-H e et 2 2

(A7 I AT SR ST () -

(B) Y HATTH Q}% X S
(C) Rt @ e (aEeTs) pY-]
(D) e

(E) 3o T =med

&19 &
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73.

74.

75.

e

Which of the following statements is incorrect ?

(A) Kiel Canal connects the Arctic Ocean to the
Atlantic Ocean.

(B) Panama Canal connects the Atlantic Ocean to
the Pacific Ocean.

(C) Bering Strait connects the Pacific Ocean to
the Arctic Ocean.

(D) Suez Canal connects the Red Sea to the
Mediterranean Sea.

(E) Not attempted

G

Which of the following statements about internet
security and privacy is incorrect ?

(A) Clearing your browser’s cache can help free
up some disk space.

(B) “HTTPS” indif:ates a secure connection for
browsers. at

(C) Using a VPN:can enhance security on public
Wi-Fi net\vorks".

(D) Public Wi-Fi networks are generally secure

for online activities.

(E) Not attempted

In early 2024, which Indian city launched the
country’s first underwater metro line ?

(A) Mumbai

(B) Kochi

(C) Kolkata

(D) Chennai

(E) Not attempted

73.

74.

75.

GET IT ON
Google Play

Feafafaa d @ P-ar s Taa 2 2

(A) HIST TET 3TTeh ek HETAT hi AT HEMETT
e |

(BY T T HTAIfCH HETHTR ht T TEHIR
et |

(C) AT ScTerensy (F2) Welid HEETR &1
ATeh{deh HETETR & Siedr 2 |

(D) TS TEX AT T T HET TR H e 2 |
(E) 3o a1 e

e G IR Moarar % s & frfafaa § @
-1 HYT TeTq & 2

(A) 379 STSSR & FT T Wiefl F F F Fowh
T Wit St # #ag fireT gehelt & |

(B) “HTTPS” SIS o foTq ek gaferd sy s
s T |

/eC)/VPNwaqzhnaﬁsrﬁmm?-mﬁza%mw
TG HhaT 2 |

(D) HHESIF ATE-FTE Feash AMAR W HTTerey
Tiafafert & foe gefem e & |

(E) I 1 =med

G

2024 it yETd H, ford T wrew § Fwr oy geeh
ST U T I &S 2

(A) g%

(B) it

(C) hreTehrar

(D) ==T¢

(B) I 3T =R
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76. What is the antonym of “Meticulous” ?

(X) Precise

(B) Detailed

(C) Sloppy

(D) Careful

(E) Not attempted

77. In which sequence should the following parts be
arranged to form a proper sentence ?

the station/ reached / before noon/ they

M (10 (I11) V)
(A) I, IV, I, I
(B) 1, I, IV, 111 Wil S
(C) IV, L 11, 111 w 2\ 3
@) 1V, 1L, 1, 11 _
(E) Not attempted g%%

78. Identify which part of the followiﬁg sentence has

an erTor.
Each of the boys / have submitted /
(1) M
his assignment / today.
(111) (Iv)
(A) I
(B) 1
o) v
11

(E) Not attempted

79. Fill in the blanks :
As the plane through the turbulence,
their seatbelts tighter. The

passengers
captain’s calm voice reassured everyone.

(A) flew, fastened

(B) flying, held
flew, grabbed

(D) flown, hold

80.

81.

82.

83.

84.

85.

GET IT ON
Google Play

Fill in the blank :

It is essential that she
meeting tomorrow.
(A) were

,QB’Y be

(C) was

(D) is

(E) Not attempted
What is the synonym of “Ancient” ?
&) Current

(B) Future

(C) o1d

(D) Recent

(E) Not attempted

present at the

Which of the following options gives the
grammatically correct sentence ?

(A) The report comprises five sections.

(B) The report is comprised of five sections.

(C) The report had comprised five sections.
-QD'Y The report comprises of five sections.

(E) Not attempted

Fill in the blank :

By the time we got there, the train
(A) leaves

(B) had left

(C) left _—
,ﬂﬁf has left %%ﬁ
(E) Not attempted

Which of the following describes a person who
does not believe in the existence of God ?
(A) Atheist Agnostic
(C) Skeptic (D) Theist

(E) Not attempted

Fill in the blank :

They were finally able to

long disagreement.

(A) burn the bridge
(B) bury the axe
(C) spill the beans
bite the bullet
(E) Not attempted

after a

(E) Not attempted
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